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| PART A: Vocabulary
| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes |
| each sentence. Then mark the correct choice on your answer sheet. |

1-  Ancient alchemists believed that it was possible to .......... lead into gold.
1) mingle 2) direct 3) transfer 4) transmute
2-  Dan always beats me at chess because he develops such an ......... game plan that I can
never predict his next move.
1) eventual 2) ambiguous 3) elaborate 4) objective
3-  His election as President represented the .............. of his career.
1) summit 2) motivation 3) triangle 4) periphery
She found the job frustrating, and felt she wasn’t ......... anything there.
1) flourishing 2) accomplishing 3) evolving 4) satisfying
5-  Britain’s ......... over its colonies was threatened once nationalist sentiment began to
spread around the world.

1) hegemony 2) preference 3) compromise 4) independence
R ; [P — all of his success to his mother’s undying encouragement.
1} interprets 2) converts 3) attributes 4) resulis
7-  You can .......... the flavor of most dishes with the careful use of herbs.
1) initiate 2} impress 3) precede 4 enhance
8-  The pirate Blackbeard had a reputation for being a harsh, .......... man.
1) reliable 2) ruthless 3) perpetual 4) prevalent
9-  Being a direct relative of the deceased, her claim to the estate was ............ .
1) prominent 2) profound 3) legitimate 4) reckless
10- There are more than thirty species of rattlesnakes, varying in length from 20 inches to six
feet and also varying in ........... of venom.
1) domination 2) detection 3) conquest 4) toxicity

PART B: Cloze Test |
Directions: Read the following passage and decide which choice (1), (2), (3), or ||
Il (4) best fits each space. Then mark the correct choice on your answer sheet.

Football is (11} ....... ball game in the world and the most popular as a spectator sport.
The simplicity of the rules and the fact that it can be played practically everywhere
(12) ........ to this popularity. It is played on all continents and in more than 200
countries. At the 2000 census (13) ........ by the world governing body, the Federation
Internationale de Football Association (FIFA), (14) ........ some 30 million registered
players at all levels. In addition, there are (15) ....... casual players involved in pickup
games in streets, on parking lots, on school plavgrounds, in parks, and even, as in Brazil,

on beaches.
11- 1) played the most widely 2) the most widely played

3) played most widely 4) the widely most played
12- 1) has contributed 2) will be contributing

3) had contributed 4) will have contributed
13- 1) to be taken 2) was taken 3) that taken 4) taken
14- 1) which were 2) there were 3) they were 4) were
15- 1) many millions 2) many of millions

3) many millions of 4) many million
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Directions: Read the following four passages and choose the best choice (1), (2), (3),

\or(4). Then it on your answer sheet.

Passage 1:

The means by which gaseous odours are removed across industry vary considerably.
However, they predominantly consist of containment of the odours through covering unit
processes, extracting the underlying gases via fans and treating them to remove the odorous
compounds or oxidising them to simpler non-odorous substances.

Treatment facilities have typically involved reacting the odorous gas with oxidising
chemicals, thermal combustion, physical removal, and biological oxidation.

It's certainly the case that not one technology suits all situations, but biological treatment has
proven effective for a vast number of odorous compounds and is becoming common in many
industries due to effectiveness, simplicity and relatively low capital and operating costs.
Industries which have successtully applied biological treatment include wastewater treatment,
rendering plants, composting operations, slaughter houses, gelatine and glue plants,
agricultural, meat, tobacco, cocoa, soya bean and sugar processing industries as well as flavour
and fragrance industries.

According to the text which of the following operations converts an odorous gas to a non-
odorous compound?

1) Removal 2) Oxidation 3) Extraction 4) containment

As used in the text, “underlying gases” mean --------- :

1) Gases that lye underneath

2) Opposite of overlying gases

3) Gases that are the cause of odour

4) Gases that exist at the bottom of the unit processes

As used in the text, “not one technology suits all situations” means -------- .

1) only a few technologies can be used for all cases

2) there is no technology that can be used in all cases

3) there is one technology that can be use for each case

4) there are several technologies that can be used in all cases

According to the text, which of the following statements about biological treatment of
waste gases is FALSE?

1) It has a low capital and operating cost.

2) It is the preferred treatment method in many industries.

3) It has been suceessfully used for the removal of a few odorous compounds.

4) It has been effectively used for treating waste gases in the food industry.

MN%“U’)Q“}‘@“)UQ&W"}&?'ug)?‘i
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Passage 2:

As the name indicates, a variable fed-batch is one in which the volume changes with the
fermentation time due to the substrate feed. The way this volume changes is dependent on the
requirements, limitations, and objectives of the operator. The feed can be provided according to
several options.

This type of fed-batch can still be further classified as repeated fed-
batch process or cyclic fed-batch culture, and single fed-batch process. The former means that
once the fermentation reaches a certain stage a quantity of culture is removed form the vessel
and replaced by fresh nutrient medium. The latter type refers to a type of fed-batch in which
supplementary medium is added during the fermentation, but no culture is removed until the
end of the process.

According to the passage, which of the following statements is TRUE?

1) A quantity of culture is removed from the vessel in single fed-batch process.

2) A quantity of fresh medium is removed from the vessel in repeated fed-batch process.

3} A quantity of fresh medium is removed from the vessel in all fed-batch processes.

4) A quantity of culture is removed from the vessel in repeated fed —batch process.

According to the passage, which of the following statements is TRUE?

1) Repeated fed-batch process and cyclic fed-batch culture are the same.

2) Repeated fed-batch process and single fed-batch process are the same.

3) Repeated fed-batch, cyclic fed-batch, and single fed-batch are three names for the same
operation.

4) Repeated fed-batch, cyclic fed-batch, and single fed-batch are three different fed-batch
operations.

Which one of the following is the best title for the passage?

1) Fed-batch requirements

2) Fed-batch limitations

3) A special mode of fed-batch operation

4) The variation of volume in fed-batch operation

According to the passage, supplementary medium is added during ---—-——,

1) repeated fed-batch process 2) single fed-batch process

3) eyclic fed-batch process 4} all fed-batch processes mentioned in the text
Water bodies are being overwhelmed with bacteria and waste matter. In this sentence
“bodies” means ---—-- -

1) sources 2) tables 3) places 4) aquifers

Passage 3:

Scientists have known about bacterial polymers for decades and have extensively studied
them as a potential replacement for petroleum-derived plastics. Approximately 50% of all
bacteria produce polymeric inclusions in response to nutrient stress, primarily nitrogen and
phosphorus imbalances. These inclusions serve as carbon storage vesicles to be used later when
the nutrient balance is re-established.

In the 1980s, shortly after the first oil crisis, intense effort was directed at the economic
production of these bioplastics, most notably a class of polymers called polyhydroxyalkanoates
(PHA). In addition to being derived using sustainable processes (fermentation) and from
inexpensive and renewable resources (typically sugar), these plastics also offer the benefit of
being biodegradable. However, once oil prices decreased, the economic driver for bioplastic
production evaporated, and many companies exited the market. Fortunately, research to lower
bioplastic production costs continued.
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Which one of the following is NOT an advantage of biopolymers?

1) They are inexpensive.

2) They are produced from sugars.

3} They can be degraded using microorganisms.

4) They are produced using fermentation processes.

According to the text, ‘evaporated’ means -------- .

1) dehydrated 2) increased 3) concentrated 4) disappeared
Which one of the following statements is NOT a correct description of bacterial
inclusions?

1) They are polymeric in nature

2) 50% of all bacteria produce inclusions

3) They are produced in response to nutrient limitation

4) They are used as carbon source during nutrient deficiency

Passage 4:

Living things need nitrogen atoms to grow. When they die, they rot and decompose, and
their nitrogen becomes available for other living things. Rotting and decomposition are largely
the result of the action of microbes on the organism and, of course, microbes die too, either
naturally or by being consumed by protozoa, nematode worms and so on. Gradually the
nitrogen is assimilated by larger living things-plants, worms, birds, ete. - and so it becomes part
of new creatures. So a process of constant transformation of the state in which nitrogen atoms
are combined takes place, which is known to biologists as 'the nitrogen cycle'. In this cycle
certain microbes return nitrogen as N, to the atmosphere (the denitrifying bacteria) and others

bring it back to organic combination (the nitrogen-fixing bacteria)

According to the text, which one of the following statements is TRUE?

1) Nitrogen is essential for the decomposition of organism,

2) Microbes do not die naturally but are consumed by protozoa.

3) When organisms die the nitrogen is slowly consumed by other living things.

4) The rotting and decomposition of an organism before death makes the nitrogen available to

other organisms
As used in the text, ‘assimilated’ means --------- .
1) reacted 2) used up 3) decomposed 4) combined

Which one of the following statements about nitrogen in the nitrogen cycle is FALSE?
1) Nitrogen fixing bacteria use molecular nitrogen.

2) Denitrifying bacteria produce molecular nitrogen.

3) Nitrogen goes through a change of state in the nitrogen cycle.

4) After death nitrogen gas is released from the dying organisms,
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